
Time: 10 Minutes Paper Math 8 (T-4) Total Marks: 10

3rd Month, 1st Week, 4th Day Review Exercise: Q# (9, 10, 11, 12, 13)

 Answer the following questions: (2.5 × 4 =10)  
Q.1. If 15 men take 85 days to build a wall, how long would a take for 10

men? Also draw its graph.

 10  85  15 
Q.2. 10 lions can eat 500 kg meat in 10 days. How many lions will eat the

same meat in 5 days? Also draw its graph.

  5  10  50010

Q.3. A factory can manufacture 200 items in a day using 10 machines. How

many items can be manufactured by using 14 machines in 4 days?

  414   200  10 
Q.4. 25 labourers can construct 5 room in 18 dyas. How many days can 10

labourers complete 10 rooms of the same size?

 10  10  5  18  25

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

Time: 10 Minutes Paper Math 8 (T-4) Total Marks: 10

3rd Month, 1st Week, 4th Day Review Exercise: Q# (9, 10, 11, 12, 13)

 Answer the following questions: (2.5 × 4 =10)  
Q.1. If 15 men take 85 days to build a wall, how long would a take for 10

men? Also draw its graph.

 10  85  15 
Q.2. 10 lions can eat 500 kg meat in 10 days. How many lions will eat the

same meat in 5 days? Also draw its graph.

  5  10  50010

Q.3. A factory can manufacture 200 items in a day using 10 machines. How

many items can be manufactured by using 14 machines in 4 days?

  414   200  10 
Q.4. 25 labourers can construct 5 room in 18 dyas. How many days can 10

labourers complete 10 rooms of the same size?

 10  10  5  18  25

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

________________________________________________________________

1 1


